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5—(1—x) ;x<l1

1. Let f(x)= ,
{6—(2—)6) ;x2>1

(a) Is fcontinuous at x =1? Why or why not?

(b) Find the absolute maximum and the absolute minimum value of /' on the closed interval
—1<x<4. Box your answer. Show the analysis that leads to your conclusion.
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2. Use Lagrange (prime) notation to express the followingderivatives
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3. Let f(x)=—x"—x"—x—5 and g(x)be the inverse function of /. Find g’ (-2).
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5. Consider the curve C: sin(xy)+2y =x+y* + 4”

A. Find ﬂ
dx

B. Find thWtangent to the curve at the point (%,2)
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6. Consider the curve C: x/§y+2siny =1+x for 0<y<r.
Find a point on the graph of C where the tangent line to C is vertical.
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7. A chemical leak in the corner of a science laboratory room makes the shape of a right triangle
on the floor. The triangle grows in such a way that the height is always three times the base. The
length of the base is growing at the rate 7/10 feet per second at the very instant the base is 5/3

feet in length.
éw/"% = ‘l Pf/S‘C,C w—ﬂc»\é
3 base

base

A. Find the rate at which the area of the triangle is growing at the instant the base is 5/3 feet in
length. Include the units of measure.
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B. Find the rate at which the hypotenuse of the right triangle is growing at the instant the base is
5/3 feet in length. Include the units of measure.
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C. The rate of change of the total temperature of the triangle is modeled by the function

4
T'(t)= t( £+ 1) units per second. Based on this model, what was the temperature increase from
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